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���� Z)m)ا� �
))ا�(���6 وا-ن��اف ا��*
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ا�*
�ب

.تDث�g ب����� ا��2ذة•

•R ��
.��^6 �=�بH� C	��ن�ت ا���

:ا�(���6 وا-ن��اف ا��*
�ري �*r �5اص 

.R ت&Dث�  ��&� ا�&	��6 واRن<�اف ا��9��ري ب$�ح أو إض�V� م�7ار ث�بL��F� 1 ا����•

.ت&Dث�  ��&� ا�&	��6 واRن<�اف ا��9��ري ب:�ب L��4 ا���� V> م�7ار ث�ب1•

 Z)m)6 ا��(���3ت وا�
� �AW*ا� Z)m)6 ا��(���3ت وا�
� �AW*ف ((ا�W)5-ف �*��= اW)5-ا =��*�((

ه� م�9مB ن=	> �=&7Sم ����Hرن� ب�6 ت�z 1&2ه�ت�6 أو أآ�� 

&�V 6> و�7ة ا����سH&S*� أو م� �ا��&�%$ �ا���� !V� . ه�ة�eوا�

و��م� �C . ا�&> م�9مB اخ&}V*� أآ	� ت^�ن أآ�� ت2&&ً� م6 اdخ�ى
��ق ح����   .x)(c.v ب���م�

�*��= ا-W)5ف -1

L�&Fم6 ب��ن�ت ا�� Cب�=� ���=�بC م6 ب��ن�ت ا�9�

( ). . 1 0 0 %
S

c v x
x

= ×( ). . 1 0 0 %c v x
σ

µ
= ×
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 Z)m)6 ا��(���3ت وا�
� �AW*ا� Z)m)6 ا��(���3ت وا�
� �AW*ف ((ا�W)5-ف �*��= اW)5-ا =��*�((
):47-3(�'�ل �
V! درا%� ��=&�ى أداء U}ب ا����H� ا���ن��� V! ا��7ارس ا�<^�م�� و ا���S� V! اخ&	�ر ا��7رات و  �

��2ا��&�6 م6 ا��F&�9�6 م<B ا�7را%� V^�ن1 ا��&��P ا�&����, ا����س 6��&��� Xاخ �ت  :

ا��$�Hب ا�*�� اآ�� ت2&&� مU L�&F}ب ا��7ارس ا�<^�م�� أم ا���S�؟�


� -5(��ر ا��/رات و ا��
�سNBا�� �
ا�����

ا-ن��اف ا��*
�ريا���� ا������

�
�Wب ا��/ارس ا����7 )A(658

�B�Lب ا��/ارس ا�W� )B(7015

 Z)m)6 ا��(���3ت وا�
� �AW*ا� Z)m)6 ا��(���3ت وا�
� �AW*ف ((ا�W)5-ف �*��= اW)5-ا =��*�((

:ا��=�

�Rب ا��7ارس ا{U L�&Fم��Hب ا��7ارس  ه{U L�&Fاآ�� ت2&&� م6 م
���Sا�  .

%4.21100
70

15
100).(. === XX

x

s
Bvc

B

B

%3.12100
65

8
100).(. === XX

x

s
Avc

A

A
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 Z)m)6 ا��(���3ت وا�
� �AW*ا� Z)m)6 ا��(���3ت وا�
� �AW*ا-�(�اء �*��= ا-�(�اء ((ا� =��*�((

B6 ا�&��ث��! ا�&^�اري >�و���7 ب��&��ثB أنC . ه� در4� ب79ُ ا��
�! ا�&^�اري و =�C إ�!  =��6 >����داً م6  �� ا�� ��إذا أ%�$

وا�V �^9�^�ن ا�&�ز�x L�� . م�$	��6 �^ـ�ن ا�&�ز�L م&��ثً}
.م&��ثB أي مH&� إم� إ�! 4*� ا����6 أو إ�! 4*� ا��=�ر

����� ح���� 

�*��= ا-�(�اء -2


6 (�*��= ا-�(�اء اGول  ]���
���l ا����ال(


6 (�*��= ا-�(�اء ا�'�ن�  ]���
�
���l ا���(

( ). .
x D

s k I
S

−
=( )

( )3
. .

x m
s k II

S

−
=

 Z)m)6 ا��(���3ت وا�
� �AW*ا� Z)m)6 ا��(���3ت وا�
� �AW*ا�)) =��*� =��*�
))ا-�(�اء ا-�(�اء 

x m D< <x m D= =

Lا�&�ز� ��x  Bم&��ث
�&Hم6 وم �ا��=�ر 4*

 ��� = م�9مB ا�R&�اء 
  �	��%

Lا�&�ز� Bم&��ث
0= م�9مB ا�R&�اء 

Lا�&�ز� ��x  Bم&��ث
�&Hم6 وم �ا����6 4*

 ��� = م�9مB ا�R&�اء 
م�ج�2

x m D> >
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 Z)m)6 ا��(���3ت وا�
� �AW*ا� Z)m)6 ا��(���3ت وا�
� �AW*ا-�(�اء �*��= ا-�(�اء ((ا� =��*�((

):49-3(م��ل 
ا�7Fول ا�&��> �9$> ب89 ا������� ا���
�� ��	��Y اR%&���رات 

ش�آ�، و ا��$�Hب  ��س م�9مB ا�R&�اء ) 40(�ـ) ب���H��ن ر��ل(
:ا����%gX*� o ا�	��ن�ت

B>ا�:

B^ش Lت�ز� Y��	رات م���&%Rا gX*� ا��2آ�ت �&Hم �ا��=�ر 4*.

ا���� ا������ا����الا-ن��اف ا��*
�ري

10.43153152

( )
152 15 3

. .
1 0 .43

x D
s k I

S

− −
= = = -0 .0 96

 Z)m)6 ا��(���3ت وا�
� �AW*ا� Z)m)6 ا��(���3ت وا�
� �AW*ا-�(�اء �*��= ا-�(�اء ((ا� =��*�((

):50-3(م��ل 
 ��
ا�7Fول ا�&��> ��ضr ب89 ا������� ا���

ش�آ�، وا��$�Hب درا%� ) 50(�ـ) ب���H��ن ر��ل(����Hو�Vت
:ت��ثB ت�ز�L ا����و�Vت �*gX ا��2آ�ت

B>ا�:

.ا�&�ز�L م�o4 ا�R&�اء V*� مH&� 4*� ا����6         

ا���� ا������ا���
�ا-ن��اف ا��*
�ري

8.2762.6765.52

( )
( ) ( )3 3 65.52 62.67

. .
8.27

x m
s k II

S

− −
= = = 1.03


